Mr Bird’s group
Please do as much as you can in your homework. Bring it in by no later than Wednesday.
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1) 3234- 934
2) 234956 – 39456
3) 3001-2934
4) 30000 – 9238
5) 32092.3 – 9023
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1) 923459 +93245
2) 30456 + 834
3) 9399459 + 98279
4) 834.5 + 834.6
5) 82.1 + 7
[image: ]
[image: ]
image1.png
@ W Holl has written these subtractions on the board.

45,541 — 25,865 68,945 — 34,758
Rosie’s workings Whitney’s workings
25865 68945

- 45541 - 34758
20324 34213

Explain the mistakes that Rosie and Whitney have made.
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© Here are some digit cards.

1] 5] [#] [4]

Ron makes a 4-digit number with the cards.
Eva makes a 4-digit number with the cards.
The difference between their numbers is between 1,000 and 3,000

What numbers could Ron and Eva have made?
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© complete the additions.

a)

b)
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© W Holl has written these additions on the board.

324,846 + 12,475 17,654 + 2,935
Dexter’s workings Eva’s workings
324846 17654

+ 12475 + 2 9 35
336211 4 7 00 4

Explain the mistakes that Dexter and Eva have made.




